
Subject: Re: Tree structure
Posted by htManager on Thu, 23 Apr 2015 15:49:17 GMT
View Forum Message <> Reply to Message

I am about to improve my SQL skills as you adviced. I think I now know my fault. The difference
between your xample application and my application is that in your xample application only entries
are shown with tree_level_id = 1. In my application there are entries shown with tree_level_id 1
and greater. That is why I see everything twice. 
Can you tell me where I have to look for if I made the correct selection? Is it in a class or in a
relationship?
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